GMR Classes

Gaseous State Slip Test - Keys And Solutions

Total Marks : 40
Duration : 1:00 hrs

1. (A) 2. (D) 3. (B)
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7. (A) 8. (D) 9. (A)
10. (B)

1. Under different conditions of pressure and temperature
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5. At constant pressure
PV = nRT.
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So answer is (B)
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Puv, +Puo =1atm ; By =03atm ; B =0.7atm
Now new pressure of Nz in another vessel of volume V/3 at
same temperature T is given by
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since aqueous tension remains constant, and thus total pressure

in new vessel
=Py +Puo =2.1+0.3=2.4atm
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T=24°C =297K
P= 760 mmof Hg = latm

V= 128 ml =128 x 1073

FV =nRT
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10. = 0.163 gm



